CONFIDENTIAL OIL & GAS CONSERVATION DIVISION WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEAS

Kansas Corporation Commission Oil & Gas Conservation Division

0.	8/3409
OP_{IO}	Form ACO-1 September 1999
1/6/1	Form Must Be Typed
.SE	AL

	TOTAL STREET
Operator: License # 5214	API No. 15 - 095-22113 - 00-06
Name: Lario Oil & Gas Company	County: Kingman
Address:301 S. Market	S2NWSE_Sec. 12_Twp. 28_S. R. 6East \(\text{West} \)
City/State/Zip: Wichita, KS 67202	feet from S N (circle one) Line of Section
Purchaser:	1980 feet from E W (circle one) Line of Section
Operator Contact Person: Jay G. Schweikert	Footages Calculated from Nearest Outside Section Corner:
Phone: (316) 265-5611	(circle one) NE (SE) NW SW
Contractor: Name: Southwind Drilling CONFIDEN HAL	Lease Name: Hilger 'A' Well #: 1-12
License: 33350	Field Name: Dewey
Wellsite Geologist: Vern Schrag	Producing Formation:
Designate Type of Completion:	Elevation: Ground: 1468' Kelly Bushing: 1477'
✓ New Well Re-Entry Workover	Total Depth: 4007 Plug Back Total Depth:
Oil SWD SIOWTemp. Abd.	Amount of Surface Pipe Set and Cemented atFeet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used?
✓ Dry — Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth set Feet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth tow/sx cmt.
Well Name:	
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan A 1 300 9
Deepening Re-perf Conv. to Enhr./SWD	34,000
Plug Back Plug Back Total Depth	Chloride contentppm Fluid volumebbls Dewatering method usedevaporation
Commingled Docket No.	
Dual Completion Docket No	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No	Operator Name:
	Lease Name: License No.:
8-17-07 8-26-07 8-26-07 Spud Date or Date Reached TD Completion Date or	Quarter Sec TwpS. R
Recompletion Date Recompletion Date	County: Docket No.:
Kansas 67202, within 120 days of the spud date, recompletion, workown information of side two of this form will be held confidential for a period of 107 for confidentiality in excess of 12 months). One copy of all wireline logs TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells	
All requirements of the statutes, rules and regulations promulgated to regulations are complete and correct to the best of my knowledge.	ate the oil and gas industry have been fully complied with and the statements
Signature: YM XX MWELLEUX	KCC Office Use ONLY
Title: Jay G. Schweikert, Operations Engineer Date: 8/3//0	Letter of Confidentiality Received
Subscribed and sworn to before me this 315T day of August	If Denied, Yes Date: RECEIVED Wireline Log Received KANSAS CORPORATION COMMISS
20.07.	
Notary Public: KATHY L FORD Tully of Notary Public - State of Kansas	
Date Commission Expires 10 - 22 - 10	UIC Distribution CONSERVATION DIVISION WICHITA, KS

Side Two

Operator Name:	Lario Oil & G	as Compa	ny	Leas	e Name:_	Hilger A		Well #:1	-12	
Sec. 12 Twp. 28	S. R. 6	East	✓ West	Count	ty: K	ingman				
INSTRUCTIONS: Sho tested, time tool open temperature, fluid reco Electric Wireline Logs	and closed, flowin	g and shut s if gas to	in pressures, surface test, a	whether salong with	shut-in pre	ssure reached	l static level, hydr	ostatic pressu	res, bottom hole	
Drill Stem Tests Taken		✓] Y€	es 🗌 No		⊘ L	og Format	tion (Top), Depth	and Datum	Sample)
Samples Sent to Geol	ogical Survey	 ✓ Y€	es 🗍 No		Nam Heeb			Top 2801	Datum -1324	
Cores Taken		Ye	es 📝 No		Lans			3064	-1587	
Electric Log Run		✓ Ye	es No		Stark	Shale		3444	-1967	
(Submit Copy)					Hush	puckney		3475	-1998	
ist All E. Logs Run:					BKC			3522	-2045	
GR/DIL/CDL/C	NL/PE				Pawi	nee		3647	-2170	
					Cher	okee Shale		3698	-2221	
					Miss	issippian 		3843	-2366	
		Pana		RECORD		ew 🔲 Used ermediate, produ	ction etc			
Purpose of String	Size Hole	Siz	e Casing	We	eight	Setting	Type of	# Sacks	Type and Per	
	Drilled	+	(In O.D.)		s. / Ft.	Depth	Cement	Used	Additives	
Surface	12 1/4"	8 5/8*		23#		283'	60/40 Poz	190	2% gel, 3% C	,C
			ADDITIONAL	CEMENT	TING / SQL	JEEZE RECOR	D			
Purpose: Perforate Protect Casing Plug Back TD Plug Off Zone	Depth Top Bottom	Туре	of Cement	#Sack	ks Used		Type and	Percent Additive	s	
Shots Per Foot	hots Per Foot PERFORATION RECORD - Bridge Plugs Set/Type Specify Footage of Each Interval Perforated			е	Acid, Fracture, Shot, Cement Squeeze Record (Amount and Kind of Material Used) Depth					
TUBING RECORD	Size	Set At		Packer	r At	Liner Run	☐ Yes ☐ N	0		
Date of First, Resumerd Well P&A 8-26-07	Production, SWD or	Enhr.	Producing Me	thod	Flowin	g Pump	ping Gas L	.ift Otl	her (Explain)	
Estimated Production Per 24 Hours	Oil	Bbls.	Gas	Mcf	Wat	er	Bbls.	Gas-Oil Ratio	Gra	vity
Disposition of Gas	METHOD OF	COMPLETIO) ON			Production Inte	erval			
Vented Sold (If vented, Sub	Used on Lease omit ACO-18.)		Open Hole		erf.	Dually Comp.	Commingled .			



24 S. Lincoln Street P.O. Box 31

Russell, KS 67665-2906

Voice: Fax:

(785) 483-3887 (785) 483-5566

Bill To:

Lario Oil & Gas Co. P. O. Box 307 Kingman, KS 67068

INVOICE

Invoice Number: 109741

Invoice Date: Aug 21, 2007

112.69

4,488.34

4,488.34

Page:

1

Customer ID	 Name# or Custome	r P.O.	Paymen	t Terms	
Lario	Hilger "A" #1-12	(AFEO7-135)	Net 30 Days		
Sales Rep ID	Camp Location		Service Date	Due Date	
	Medicine Lodge		Aug 21, 2007	9/20/07	

Quantity	Item	Description	Unit Price	Amount
114.00	MAT	Common Class A	11.10	1,265.40
76.00	MAT	Pozmix	6.20	471.20
3.00	MAT	Gel	16.65	49.95
6.00	MAT	Chloride	46.60	279.60
199.00	SER	Handling	1.90	378.10
40.00	SER	Mileage 199 sx @.09 per sk per mi	17.91	716.40
1.00	SER	Surface	815.00	815.00
40.00	SER	Mileage Pump truck	6.00	240.00
1.00	SER	Head Rental all	100.00	100.00
1.00	EQP	Aug 27 1087	60.00	60.00
ALL PRICES AF	RE NET, PAYABL	E Subtotal	<u> </u>	4,375.65

Sales Tax

Total Invoice Amount

Payment/Credit Applied

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 437.56

ONLY IF PAID ON OR BEFORE

Sep 20, 2007

MIT TO P.O. B		NIC 4 C 2722	سر -		;	SERVICE POINT:	
RUSS.	ELL, KA	NSAS 6766	5			Medicin	e Lodge ES
DATE Aug 07	SEC.	TWP.	RANGE O6w	CALLED OUT	ON LOCATI	ON JOB START	JOB FINISH 400 AP
LEASE Hilger'A"	WELL#		LOCATION 54			COUNTY	STATE
OLD OR NEW (Cir					-x+,5/2	5, Kingman	
ODD ON ID TO COM	· ·		, , , , , , , , , , , , , , , , , , , ,	nto			
	Southu		#2	OWNER	Lario	Oil & gas	
TYPE OF JOB	Surfac		20~			,	
HOLE SIZE / 2/ CASING SIZE 8	14	T.D.	285	_ CEMENT		90 10	40.0
TUBING SIZE	, /5	DEP DEP		AMOUNT C	ORDERED	90 sx 60	:10.2+
DRILL PIPE		DEP		21000			
TOOL		DEP					· · · · · · · · · · · · · · · · · · ·
PRES. MAX 20	ə	MIN	IMUM —	_ COMMON_	114	9 @ 11.10	1265.48
MEAS. LINE		SHC	E JOINT N/4	_ POZMIX _	76	@ 6.20	471.20
CEMENT LEFT IN	CSG.	15'		_ GEL _	3	@ 16.65	49.95
PERFS.	17	01/2 5	1/12-	_ CHLORIDE	<u>le</u>		279.60
DISPLACEMENT			cesh H 3	_ ASC		@	
	EQU	IPMENT				@	
				_		@	
	CEMENT		elio			@	
# 342 I	HELPER	S. Kra	merl			@	
	ספעזער	R. Ra	_				
BULK TRUCK	DRIVER	1. 10	nons			@	
	DRIVER			***		@	
				- HANDLING		@ <u>1.90</u>	378.10
	DEA	ARKS:		MILEAGE _	90 X 199	X.09	716.40
Din 2			- 0 1			TOTAL	3160.65
Pipe on Br	TM I	Scent L	icc., Pump Pr	e-			
Flush, Mix 1.		ement, =	11/ 1/ 2	<u>.</u> ~	SEI	RVICE	
See increase	1 _	r. 5 lou	Rate, Bunn	9) ————	on 7 61	2	
Stop Puma	at 17	BLIS	total Dick		OB <u>282</u> CK CHARGE)	01.50 Am
Shutin, 1	Come	t D'1 (Cike	EXTRA FOO		@	815.00
				MILEAGE		@ 6.00	240.0
				- MANIFOLD	Scalnerta		100.00
					•	@	
/		- / .				@	
CHARGE TO:	40	0i 8 c	7as	-			
STREET				·		TOTAL	1155,00
CITV	, Cittle			/ 4	1		
CITY	\$17	ME	ZIP	25/8	PLUG & FLO	DAT EQUIPMENT	r
				0/0			•
				1- TW	D	<u>@60.00</u>	1-0-0
						@ <i>@0.00</i>	60,00
To Allied Cementir	ng Co., Ir	ıc.				@	· · · · · · · · · · · · · · · · · · ·
You are hereby req	uested to	rent ceme	nting equipment			@	
and furnish cement	er and he	lper to ass	ist owner or			@	
contractor to do wo	ork as is 1	isted. The	above work was				•
done to satisfaction	and sup	ervision of	owner agent or			TOTAL	60.00
contractor. I have r				TD 4 3/2			
CONDITIONS" lis	ted on th	e reverse s	ide.	TAX		GARANTE STATE	
				TOTAL CHAI	RGE		翠
				DISCOUNT \$		ALE DATE	IN 20 DAYO
ن م ن	5) [2.0000111 =	and the second s	P P	IN 30 DAYS
SIGNATURE	who.	n	June 1	1011	12 of -1/4	DECNED	
	- 47	<u>, , , , , , , , , , , , , , , , , , , </u>		- LWA	TUE /K	TED NAME	
	•				PKII	NTED NAME	